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(E) y =2/3 x.
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5. For m > p,, the demand functions for good 1 and good 2 are given by the equations, x; = """”v/p,2 —1 and

X, = P1 /Pz’ where mis income and p, and p, are prices. Let the horizontal axis represent the quantity

ofgood 1. Let p; =1 and p, = 2. Then for m > 2, the income offer curve is
(A) a vertical line.
(B) a horizontal line.
(C) a straight line with slope 2.
(D) a straight line with slope 1/2.
(E) None of the above.

6. If there are two goods and if income doubles and the price of good 1 doubles while the price of good 2
stays constant, a consumer’s demand for good
(A) 1 will increase only if it is a Giffen good for her.
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(B) 2 will decrease only if it is a Giffen good for her.
(C) 2 will increase only if it is an inferior good for her.
(D) 2 will decrease only if it is an inferior good for her.
(E) None of the above.

7. A monopolist faces a downward-sloping demand curve and has fixed costs so large that when he
maximizes profit with a positive amount of output, he earns exactly zero profits. At this positive,
profit-maximizing output,

(A) there are decreasing returns to scale.

(B) demand is price inelastic.

(C) marginal revenue is greater than marginal cost.

(D) price equals marginal cost.

(E) average total cost is greater than marginal cost.

8. A competitive firm is choosing an output level to maximize its profits in the short run. Which of the
following is not necessarily true? (Assume that marginal cost is not constant and is well defined at all
levels of output)

(A)Marginal cost is at least as large as average variable cost.

(B)Total revenues are at least as large as total cost.

(C) Price is at least as large as average variable cost.

(D) Price equals marginal cost.

(E) The marginal cost curve is declining.

9. The government budget constraint can be expressed in the following formula: G—T = %H — G_;)B

r

where G is the real government spending, T is the real government revenues, t is the inflation rate, H/P
is real high-powered money, i is nominal interest rate, B/P is real government bonds. Suppose that G =

700, H/P = 1500, B/P = 2000, 1t =5%, and i =7.5%. Thus,

(A)the amount of seignorage is 112.5,

(B)the real interest on bonds equals 100,

(C)when the inflation rate falls from 5% to 4%, the amount of seignorage decreases

by 15,

(D)if the Fisher Effect holds, taxes must be increased by 15% in order to keep the
real value of bonds and high-powered money constant.

(E)None of the above.

10. TaiTai economy can be characterized by the production function: Y = AK*/*N?/3, with a capital stock

of $3,000 billion and current net investment of $120 billion. Therefore,
(A)if the growth rate of autonomous factors is zero and the growth rate of labor is 1
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percent, then the current growth rate of per person output is 0.01. This is a
steady-state situation,

(B)if the growth rate of autonomous factors is zero and the growth rate of labor is 1
percent, then the current growth rate of per person output is 0.01. This is not a
steady-state situation,

(C)if the government wanted to increase the growth rate per person output by an
extra percentage through subsidy policies that affected capital growth alone, thus
it would have to raise investment by $100 billion,

(D) if the government wanted to increase the growth rate per person output by an
extra percentage through subsidy policies that affected capital growth alone,
thus it would have to raise investment by 75%,

(E) None of the above.
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